v’ trend [m/s/dec]

—
QO

0.08
""""" 0.06
. 0.04

0.02

0.00
-0.02
-0.04
-0.06
-0.08
-0.10

'
=3
=)
0

O

Pressure [hPa]

0 20 40 60
Latitude [°]

(c div(EP) trend [10"°m/s¥dec]
0.58

0.46
0.35
0.23
0.12
77777777777777777777777777777 0.00
-0.12
-0.23
-0.35
-0.46
-0.58

Pressure [hPa]

( b AV’ trend [m/s/dec]
i 0.05

0.04
0.03
0.02
0.01
—————— 0.00
-0.01
-0.02
-0.03
-0.04
-0.05

30 40
Latitude [°]
( d Adiv(EP) trend [10'°m/s%/dec]
0.58

0.46
0.35
0.23
0.12
0.00
-0.12
-0.23
-0.35
-0.46
-0.58

100




